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S AGEZ I
HHM: FIPNLASSITAIA
Hel: H2E ScSAtY F=d CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
o H==(1E 23)
83, 770 x50 Ax23] 8,377
O0ISASE & 2EAASSR 241,452
o0 FH(2II1ZAH
70,6402 %3004 A3 63,576
0 (TYS)
370, 720213000 Ax13] 111,216
o FA(2AE) 110, 000225074 A#23] 55,000
0 FR(Rehs)
11,6602 %2501 A#43) 11,660
02%%E FEAALSLR 1,509
E=PIEWN; 33,20021%30 Ax53] 498
od 13l 336,730 4x3H A*13] 1,01
OSZH|(Z2IYRER)
8,0002%501%80A! 3,200
202 O4H 12,000 12,000 0
01 2UHoi| 12,000 12,000 0
O P P48H 200,0002%501x 122 12,000
203 AR=ZIH| 3,000 3,000
03 AIER A=Y 3,000 3,000
Obtsy=r g2 1,500,000 1,500
OXLALE U Gl PR
1,500,000 1,500
206 =l 135,573 135,241 332
01 2HI 135,573 135,241 332
O%EZAE Had 2L o]
0421E 1,600 %204 32
0P2IE 1,0802+20H 22
012l 770501 39
O%CAILZRIN HLES 252 iKY
90024 *500H 450
OlIZAEE A= LHPL
80,0002 +280 4 A *63] 134,400
OASHEZ 3229|(DH) 2
6,3002%100kg 630
401 Al&HIL S 0HY] 110,000 110,000
01 Al&H] 110,000 110,000 0
O%EEDAIE HLEX &X 2 A2
110,000,000 110,000
405 THAHE SH 20,000 20,000 0
01 AL SEF SH 20,000 20,000
OlISALE AASAT| WA
1,000, 0002 %2074 A 20,000
ARDLETAIL HIEX A 150,000 83,300 66,700
[ 45,000
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SA: AT
I $IJLLASSDIAIY
el Hes SsAR =8 (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 105,000
401 AI2HIZ 00| 150,000 83,300 66,700
= 45,000
— 105,000
01 AIZH] 150,000 83,300 66,700
OARDLCAIE B2l A
500, 0002 *3007H A 150,000
= 45,000
= 105,000
AT AN 24 414,637 22,880,786 1,533,851
2 396,000
= 13,927,143
— 10,091,494
Sl Z2lArY 7.360 7.040 320
AU =X 7.360 7.040 320
201 LBr2 Ay 2,560 2,240 320
01 AF222lt] 2,560 2,240 320
O2H|(M4TH2ET)
8,000 *401%80A! 2,560
202 0] 4,800 4,800 0
01 2LHo 4,800 4,800 0
Ol H2 48 100,000 %401x 122 4,800
Y ENEE] 3,893,791 3,716,746 177,045
= 600,000
— 3,293,791
OIS A% T AN 3,036,791 2,716,746 320,045
401 AI2HIZ S 0HE 3,036,791 2,716,746 320,045
01 Al&H] 3,029,000 2,707,000 322,000
ODISAAE HH|AMY 2,379,000
OAHE Q201 ALE S22 DHTA
200,000, 000! 200,000
0AHE Ui ZIIA0IS A4E L5222 1
HIZAF 100,000, 0002 100,000
OLE 22 LSOIS aA4E =522 nJ
SAt 100,000,000 100,000
OAME HXIDIS ALE 52 DHZA
200,000, 000! 200,000
OXIE UE0IS ALE SRTA
40,000,000 40,000
OMZE 2HL0IS SH3 Y2 HERD
A 52,000,000 52,000
024 22 DISA4E 293 0|8 & 24
22 AXISAt 80,000,0002! 80,000
02M AE DISALT FH4@ F=HFH2
Ab 20,000,0002 20,000
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SA MBS}
M ASTAIY
S OISasE2d (Crel: & 2l)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
0=A 2 AN OISASE oBras i
SAt 50,000,000 50,000
AR SE DISALE 542 JH|ITA
70,000,0002 70,000
OAIE 2E0IS 2EMY L A2 |
SA 80,000,000 80,000
DAl SAIS A4E L5293 D2
A 70,000,0002 70,000
OAIE AIEDIS BHEINY L Alap2 F|
SAt 80,000,000 80,000
OAIE HE TEB A4E 522 DHB
At 90,000,000 90,000
0SS DHSINDIS(S0H) ARR, UBHEH
IHZAL 175,000,000 175,000
0SHe ZXHEGH OIS AR, UPRN
N B A 175,000,000 175,000
0Bt AFDIS(BR) ASRZ, YBIEHE
NS AL 148,000,000 148,000
0SHE 2OH0IS AR, ABITE JHuB
A 274,000,000 274,000
0t NS A4E B2 HXITA
27,000,000 27,000
0EHY BH2OIS(HIS) ASRZ2, YBHatN
N B A 100,000,000 100,000
0SHE KIU0IS AR, AR U
A 198,000,000 198,000
0AIS HXIDIS AT QUBHBIE JHLTAL
50,000,000 50,000
OASZ2 HIZME L SXIZRIA
100,000, 000! 100,000
OAgtgaAld 4% 2 22
50,000,0002! 50,000
OSH DISM4T SXIE2AY
500,000, 000! 500,000
03 Al&=2CHH] 7,791 9,746 1,955
ONISALTZAI 201
2,164,000,00021%0. 36% 7,791
ARD A 53 AIE J A NR(ARREE 857,000 1,000,000 143,000
AEIHZEAL) (M EH (R EHAL)
= 600,000
— 257,000
401 AlEHIZL 20HY] 857,000 1,000,000 143,000
= 600,000
— 257,000
01 Al&H] 857,000 1,000,000 143,000
OATR =T AILINZAI (S
857.000,000%! 857,000
= 600,000
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A ASHEED
B NPTAIY
oo Olsd=aiel CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
[] = 257,000
NEPXZN=INS] 20,513,486 19, 157,000 1,356,486
=2 396,000
= 13,327,143
= 6,790,343
JNENZN=EET 2,007,200 2,000,000 7.200
401 A& 812 =0HY] 2,007,200 2,000,000 7,200
01 AlZH 2,000,000 2,000,000 0
OXIALE 019} U JHAAI (T2 L Bt
SRA H8) 2,000,000,000%! 2,000,000
03 Al&=CHH] 7,200 0 7,200
OXIZHat4E 01 I JHIARY S THH|
2,000,000, 00024+0. 36% 7,200
SR AEY FHAY 500,000 500,000
401 N&HI LS HY] 500,000 0 500,000
01 AlZH 500,000 500,000
Ol-ZAs BUTH| AZZ2IAY
500,000,0002! 500,000
SOHEMEELNL(ATS 7Y NLAST SHAF 7,428,572 2,141,000 5,287,572
) (He)
= 5,039,286
2 2,389,286
401 N&HI L= HY] 7,428,572 2,141,000 5,287,572
= 5,039,286
2 2,389,286
01 Al&H 7,428,572 2,141,000 5,287,572
OAEBLT NYASE SRAL (M)
7,428,572,000& 7,428,512
= 5,039,286
= 2,389,286
SOHEMEEINL(NFLE SHELE 58 ¢ X 9,285,714 4,286,000 4,999,714
SASE EEAIY) (HEAIY)
= 7,892,857
2 1,392,857
401 N&HI L= HY] 9,285,714 4,286,000 4,999,714
= 7,892,857
2 1,392,857
01 Al&H 9,285,714 4,286,000 4,999,714
OMBME SBE4E 54 L NYaLE
SEANY 9,285,714,000! 9.285.714
= 7,892,857
= 1,392,857
AHMEZ SO HIABTY PEAY(HEALY) 500,000 0 500,000
= 395,000

- 647 -




2 Aote=E
S AT AY
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o 105,000
401 Al&HIZL 20| 500,000 0 500,000
& 395,000
o 105,000
01 Al 500,000 0 500,000
OLts MEZ 479 HIAZ22Y RS AF(
&) 500,000,000 500,000
== 395,000
o 105,000
AOIE Rgat=E XIRAN 792,000 296,000 496,000
= 396,000
o 396,000
401 AlEHIZL 20| 792,000 296,000 496,000
= 396,000
o 396,000
01 Al&H| 792,000 296,000 496,000
OF2F =Xl AEME UHSHAH 25
792,000,000 792,000
= 396,000
o 396,000
[o] ==Y\ dea! 1,964,676 1,408,228 556,448
Ot Z At 1,964,676 1,408,228 556,448
ot AIEdEY 1,857,872 465,520 1,392,352
201 L2 3F| 3,072 1,920 1,152
01 At22t2ld| 3,072 1,920 1,152
OSSR FA)
8,000 %401x06A! 3,072
202 (bl 4,800 3,600 1,200
01 ZLHOHI 4,800 3,600 1,200
Ot a3 100,000 #4014+ 122 4,800
401 AlEHIZL 20| 1,850,000 460,000 1,390,000
01 AI&HI 1,850,000 460,000 1,390,000
Oot&E(ZSUl) X7 S22 AXISAt
500,000,000 500,000
O&Z(OILIAIZ) 012 ot=2ZZE AXISA
300,000,000 300,000
OFB0IS ot-22 EXISA
500,000, 000& 500,000
Odt=E FEHIIJ A 50,000,0002! 50,000
Odt=2tz R A L 258
500,000,000 500,000
Ste2t2 D& Y OHEAIS 100,000 936,000 A\836,000
401 AlEHIZL 20| 100,000 936,000 A\836,000
01 AI&HI 100,000 936,000 A\836,000
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SN ASHEED
HI: SiETAY
ol ol 2 ALY CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OZAHE 3N ohHel Y st22 J|=d
= 100,000,000 100,000
JHOIGHAE T 2IAIE 2t 6,804 6,708 %
201 L2 6,504 6,408 %
01 AFR2t2IH| 5,988 5,892 %
OFSIE WREHA OIHEXM HME
15024%5, 0000H*13] 750
OFALES N 33020%3,00001*13] 990
OAldRe] T2 SX2el
354,000 128 4,248
02 2229 516 516 0
O B2 430+ 1000H* 122 516
206 XHEH] 300 300
01 x24I 300 300 0
OAEEZA ==Y =g 1,500 %2004 300
St 22l 734,260 904,370 A170,110
e 2d 734,260 904,370 A170,110
S22 19,760 22,600 A2,840
201 L2 5,160 5,600 440
01 AF22t2IHI 2,560 3,200 AB40
OSZH|(AE2PAREX)
8,000 *4 215804 2,560
02 222 2,600 2,400 200
Odt==E &3l 2,600,00013] 2,600
202 04H| 9,600 12,000 A2,400
01 2LH0IH 9,600 12,000 A2,400
OANE2HAR 48
200, 0002401128 9,600
308 XXIEHRISOIA 5,000 5,000 0
07 KXISHHI2re e 2 5,000 5,000 0
SotEHIAlE 2eHI(2Y
5,000,0004%13] 5,000
714,500 831,770 NA167,270
564,500 881,770 NA317,270
564,500 881,770 A317,270
IER2IAlE RRIES
50,000,000 50,000
O2BoI4HEIAIE ISR AE, Z2l)
63,000,000 63,000
CIAIE DS A A 451,500
HZ=I1(D0, MLSS, PH, ORP) —OH
20,000,000 * 14! 20,000
OAI™ B354 & EAHIHD| B4
85,000,000 * 14! 85,000
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SA ABIAZD
MM BT 22
Ee: ol=ER2Y (cHol: M)
o = — PSLE]
2A - HH - GQ(3H) - HIRAY - BES Ofl At @;& HRz2
AT =20l AsHE A0)
8,500,000 % 14! 8,500
0S4 T2ol4 @RS L AN B4
23,000,000 % 14! 23,000
0CHH 2Tots X2 L AN 22
23,000,000 % 14! 23,000
ONSYS DOH(SAH, OA, &2, HE, &
AF, 9z, AIE) 50,000,000 %14l 50,000
0ZA 22514 PLCRA
17,000,000 % 1Al 17,000
0t 225+ PLC WAl
16,000,000 % 1Al 16,000
OCHE 225+ PLCRA
16,000,000 % 14! 16,000
022254 PLCRA
14,000,000 % 1Al 14,000
000222514 PLCLA
13,000,000 % 1Al 13,000
0L2RH DA (AL, W2, onag)
15,000,000 % 14! 15,000
09E Z2at4 MI|&H| A
101,000,000 % 14! 101,000
028 2Bt SI|X E0 HH| ZA
50,000,000 % 14! 50,000
405 KHAHE S 150,000 150,000
01 KU SZF S| 150,000 0 150,000
OALY 225t 2R 2HIZ(10E) 2
150,000,0002*1CH 150,000
A2 220,285 195,985 24,300
[ 5,000
- 215,285
222 12,785 15,485 22,700
FHSAILEX 12,785 12,785 0
201 LB 4,385 4,385 0
01 AF2 22l 4,020 4,020 0
OYUBtA Y] 2,100
0FDIXIRAIR =X OHAS MR
200, 0002 *57H 4 1,000
0LZAIZINLYE 2o 1,100
042|Ef 2,00024%3507H 700
o 12IEf 2,50020%1607H 400
O2H| (2B LR=R)
8,000 %30 1%80A! 1,920
0P 2229 365 365 0
OXlat4 23 2BR2(SII)
2,530RAx1224% 128 365
202 01t 8,400 8,400 0
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S
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A2
A 2el

HEE

2A -3 H(SIH) - M2 A= o Ol Aton Hns2t
01 =LHOIH 8,400 8,400 0
OFZIHL LR 43l
200,000 *3Q1x 128 7,200
OXItE0Ie AR
100,000 %101+ 122 1,200
NS ONEEE] 207,500 180,500 27,000
[ 5,000
= 202,500
XIoHHZE 2asn 45,000 28,000 17,000
[ 5,000
= 40,000
401 Al&HI L2 0HH 45,000 28,000 17,000
[ 5,000
= 40,000
01 Al&H] 45,000 28,000 17,000
OXI5t: OI2AEHEAI 2 E22 2427
SAH 45,000,000 45,000
[ 5,000
= 40,000
SEXGIe2SY AX ¢ 162,500 152,500 10,000
403 XX SHHISXH=0| & 162,500 152,500 10,000
02 2| ZS0ICHEH RS =T 162,500 152,500 10,000
O XXt S3Y
30,000, 00024 +47H 2 120,000
OSHY X2
2,500,000+ 179K 2 42,500
WSS (AT 11,743,8% 2,583,531 9,160,295
VESIEINES 11,743,826 2,583,531 9,160,295
MATAIAEES 3,382,049 2,583,531 798,518
701 DB HSHES 3,382,049 2,583,531 798,518
01 JIEHIHEES 3,382,049 2,583,531 798,518
OMLCAIASE3|H HES
3,382,049,0002 3,382,049
FENHSLEE N HE 8,361,777 8,361,777
701 JIEtBIHSEES 8,361,777 0 8,361,777
01 JIEIEIHEES 8,361,777 0 8,361,777
OFZIMLSEFH ©
8,361,777,000 8,361,777
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SN ABHEEED
HI: AT Al D2
CHRl: MCH HATALZR] L 2 (ALTAIISESIH) (CHol: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
INENIPNPNIETET 4,325,206 3,370,282 954,924
MNSCH HAZALZL] L 2 (MSTAILSEEH) 4,325,206 3,370,282 954,924
3 HXTAIE X2 2,437,304 1,572,645 864,659
101 2124 252,567 201,795 50,772
M4 JIHH22ISES 252,567 201,795 50,772
ALT R YREX(0F2H2S,401) 143,443
0123 142, 97024*421x200 114,376
OARILE 142, 97024 x401x 11 6,291
OAIRTIRE 282 13,576
02013 120,666,6802*4 . 5% 5,431
oRalick=s 120,666,680 %3.545% 4,278
0 HIIRYEE 4,277,63021%12.81% 548
01EEE 120,666,680 %1.75% 2,112
otITHEE 120,666,680 *1. 0% 1,207
0EIXZ 2,300,000 4! 9,200
Ot 2| UPER(F2H22 301) 109, 124
== 78,8802 *301%2492 58,924
0FXtg 78,8802%301x542! 12,779
0AX = 78,88021%301x112 2,604
(S =] 78,880 %301x482! % 150% 17,039
OAIRXIRY 282 10,278
o=ue=z 91,343,040 %4 . 5% 4.1
0 UAEE 91,343,04024%3.545% 3,239
0L QIED| QS
3,239,0002+12.81% 415
0UEEE 91,343,040 %1.75% 1,59
oMTHEE 91,343,040 %1.0% 914
0EI&Z 2,500,000 30! 7,500
201 L2 S 563,687 500,522 63, 165
01 AF222IH 124,557 110,317 14,240
OHLZ RIFHIBY 42
110, 000248 Ax 122 10,560
O&F=+% 294| 600,000 *30H| A 33 5,400
OFEHALL2(FS) 30,633
0T H A (F2HHAL
359,040 %3 Ax 122 12,926
0BT H A (F2HAAL
36,5002 +3H A 43| * 12 5,256
0Lt X (RI2HAL
23,8002 x4 Ax 122 1,143
0S4 C A (FH2HAAL
57,5002 %30 A* 122 2,070
0S5+ UHE(2IIZAH
68,8008 A 42 2,202
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< A% 2l
SH IATALTL U SY(ALEARISHEIH)

Hd . X . CLO|( S . . IE dMEE
2AM -3 . H2(3H) - MRAEY - BES O ko
[EEERNEESIEHEI)
57,900 %3 A 23|+ 122 4,169
OHRALDIMS(Z2FA AL
16,2802 *30H A 23| * 12 1,173
OXIGH= (B[ A}
847,000 1) A 23] 1,694
O+ZZA=2 (=) 18,891
0FI 47 U HAFRAN(F2AAN
87,5002 +67H A *83 4,200
0F 47 L ZLFAN (2| AHA}
612, 100 *6I A *435] 14,691
Ottol2iA Y 2AMSS(BH|H A
2,700,00024+20H A #23 10,800
OXI5t2 =2H10[24A A
1,100,0002 * 104 Ax13] 1,100
OS2 OISO SEHAL 248
52, 10024130 6,773
OLENSHZ)| HTHA 222 (HTHE
) 650, 0002 *16CH+13] 10,400
OFEUE +TAAZY DH2L2 (S
Q| 23) 400,000 %34 A#3E*13] 3,600
O+FSEZASIM MR
1,30024*4,00052*13] 5,200
OxSSEIIS| AR 2t
100,000 %701%23| 1,400
OA£ETAD EAL B DS
800,0002*80! 6,400
OFLE ORIZ2X SHA P2 HIZ
- 250,000%23] x2JH A 1,000
OF, 4% 29 A0S 22 9
200, 00021 *30H A #4353 2,400
OFJ|HEBI2|S 2 242
250, 0002 *6IH A * 122 10,000
DL BEAAAE SR 2L A
10,000, 000 10,000
02 2229H| 439,130 390,205
Oo=2z2e=2 2 Al 428,400
0&II122(FH47) 216,000
0 AHMESEIF ST
11,000,0002 * 122 132,000
o Tt F & 6,000,000+ 12 72,000
OAIER R 1,000,000 12 12,000
0&MI|22(H47) 114,000
OAFMESEIH AT
5,500,0002* 122 66,000
o RS SEATSy 2,500,000 %12 30,000
OAEB 4T 1,500,000+ 122 18,000
0FIIQB(IOIAE L HH==XI) 43,800
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S AGEZ I
HI: AT Al D2
CHRl: ASCH HAITAILRR] L 2 (ASCAIASEHS|H|) (crol: 221
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
0SEIAH L X
3,500,0002* 12 42,000
RE=L ESN 150,000 * 122 1,800
0SAIQB(HLH)
50,0002 %304 A* 122 1,800
0NRIIM2(F, H4E L IILE Hi2=XI)
550,000 x84 A 122 52,800
oo 24| 4,730
0Lt E SF(ZCIAL
1,38024%217 £ *3IH A5 4,492
0001, RO S
1,6502%16 £ *3IH A*33] 238
OAISZH| S 6,000
0Z A AFRHIR
25,0002 x5 34 A*435] 1,500
0FENSESEHR ME2 HTY
250, 0002 *6CH*30 A 4,500
206 =4l 115,860 101,760 14,100
01 XH2H] 115,860 101,760 14,100
OASHI(ROIEALIES) ¢
5102%5, 500kg* 122 33,660
OASHI(YGSILES) 7
3302%1,500kg* 122 5,940
O2& M (Z2lsatstdstaad20ls) 22
690! *5,500kg* 122 45,540
OZ2&HI(Z210) 120, 0002 %2 *103] 2,400
Ottt =2¢ 20,0002 *3IH A*30 1,800
Oagal I3 15,720
OAILZ(EZEEM 5)
500, 00021 *3IH A+5E+23) 15,000
0XXtZ 12,0002 *3IH A*20Z 720
FEATE SHID| PEIU(EEH 2 13
Z) 1,200,000 %34 A*35 10,800
401 AlEHI 2L 20HY 1,505,190 758,568 746,622
01 Al&H] 1,499,790 756, 120 743,670
OF AL RXI2e 38,000
0F|2=2 2920 BA 4,000,000 *63] 24,000
0FEH|(HED| 9 4F) &M
700,000 x4 A53] 14,000
OJ|sEt 2 ALY 307,370
QA MESEIE A XK 2o AX|
31,000,000 31,000
QAN MESEIE S HiSEI 0|53
6,200,000 6,200
OAEMESEIE 4 XK S24X 2
OIHEZZ Wil 12,000,000 12,000
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SA ASIEED
M MAT AN 2P
TR ACE NAMAIMRZ] L Y (ALTAIKISES|H|) (chol: &2l
- _ _ plE
SA B E(BH) - HRAY - BES Ol &k L o HIDS2
ONEESE MM HI =M &
170,000 170
QAR EAZ AR BE D
2,300,000 2,300
OAIEEAZ ZU2Al HOIAH DE
1,600,000 1,600
OANEE=& PLC wXl 40,000,000 40,000
OAIREAE OCTV M2 Z&
2,000,0002! 2,000
OAMLE &S 22 2 2X 1,003,520
0B JIHER AL
20,000, 0002%37H A 60,000
0STEFK|, B4Xl S =HA
11,000,000 %374 A#235] 66,000
0RAELI(ZHX) M
830,000 %20 A* 122 19,920
QAR S FHAR HH|ZAF
200,00024%2, 583 516,600
QAR MESEIHAZR 24X 23l2|TH 1
H 42,000,000 42,000
OAFEMESEIHAR XM DR
12,000,0002! 12,000
OMHMESSHAE ML AHEEQ)2I0!
| 2,000,000 2,000
OSHARAT Hi4X SURE wE DX
15,000,000 *67H A 90,000
OSHA R AT HIAIAD| &X|
50,000, 0002%2IH A 100,000
OSHE R AT FAR HE)| KAGIAI
80,000,000 80,000
QAR EAZ JILAL BT AX
15,000,0002! 15,000
OS2 20
800, 0002 *H A 7,200
OCCTV = AXl2teldl 400,00021%187H 4 7,200
OSE MK, X, HIAX 2=
10,000, 0002 *23] 20,000
OF, B4E SAFH|(ZHD], LI2EY| S)
6,000,000 *37H A 23] 36,000
Ogets |Xl2eldl 50,0002%50S 2,500
OALE AIES HI|, Y OHREA (AHE M
ESSHLT 9| 20A)
30,000,0002*23] 60,000
OXlgtatec oM AH| AX ZAHQHEGH, oF
HL2t S) 6,000,000 %37 A 18,000
03 Al 20| 5,400 2,448 2,952
OAIZ= 0l 1,499,790,00024%0. 36% 5,400
NETAE S22 1,887,902 1,797,637 90,265

- 657 -




2 AStE D
I AT Al 2g
CHR: AlCH FMARA|ILZZ] U SH(ASTAIISHS|H) (cHol: x2)
= = — PSLE]
A - ZHH - S(3H) - HRAIY - BAS Ol Ak oK oﬁﬁoEH Hns2
101 @244 160, 199 146,850 13,349
VBIENEENEEES 160, 199 146,850 13,349
OatetaE H2| 2= 160, 199
0HZD| HE ol
1,00024%12,000& * 12 144,000
0201012 144,000,0002! %4 . 5% 6,480
0A2L 2 144,000, 0002/%3. 545% 5,105
OIS 5,105,000*12.81% 654
one=s 144,000,00024*1.75% 2,520
OAHH B & 144,000,000 * 1% 1,440
201 LB A 204,682 203,282 71,400
01 AFR222lH| 58,432 40,452 17,980
OABIETAIR2 DXIA Q1)
902413, 0000H* 122 14,040
O&2EIIMN 528 T2if ARE
300, 0002*33] 900
OXZIE E44l 242
120,0002 * 122 1,440
OFEHN U2l 242
802 1,20021 12 1,152
OXS0IH g2l £42
2524%6,00021* 122 1,800
OFRUE LLUAIAH SX|L2H|
1,500,000 1,500
OFSHE SLAAE AHB SXE2H|
10,000, 000 10,000
oszen ADE
200, 0002 *304 A * 122 7,200
OJIE U HiX| ROIAHIEAS42
170,000+ 100 A * 122 20,400
02 222YH| 236,250 182,830 53,420
OMLT XA UE 2B2
40024%11,000S* 122! 52,800
OozZze2 2 HAl 182,400
0&D IR (IIAH) 92,400
0 AHE M (30THA)
110,00021*300H A 122 39,600
0 B2 (300HA)
110,000 %307 A 12€ 39,600
0 AIE RS (107HA)
110,000 %1004 A * 122 13,200
0HIIS2(SH)
200, 0002 *307H A 122 72,000
0EAIL2(AAHAIZ])
2,500 *6007H A 122 18,000
Oatst2 83| 1,050,0002 1,050
401 Al4H| 2L 2 HY| 1,427,621 1,422,505 5,116
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S AGEZ I
HI: AT Al D2
CHlr ASEH HATALRR] L 2 (MLETAIISEEH) (crol: 221
SH - EHH . O(3) - NRAIY - BAS Ofl st Gl RS2
01 Al&H] 1,422,500 1,417,650 4,850
O - iz 213832 1,075,000
OAEMEMSC (AM Q8 ME ZA)
2,500,0002 %1504 375,000
OSHE AT (EHA, AIOH AHHIZE, AIS)
2,500,0002* 1404 350,000
OAIE AP (A AIA)
2,500,0002 %1404 350,000
OAZI| nH L Al 43,000
0= HEI| wxl 100,000 %250 K 25,000
0ME A 7 60,0002 %3007} 18,000
Oa%E AES 24 2 X 183,500
0 E QXL 3,000, 0002 %2074 A 60,000
0REH SX2+ 1,000,000 1574 2 15,000
ObH==X BA L X225
2,500,0002 % 1790 A 42,500
OAIDER] RiZ=| X 2 A
1,500, 0002/ %307 A 45,000
0JFE & Hi=Xl 2 SHEHI(ZEHID| S)
21,000,000 21,000
OAZIILE AAHZAIRAIAE P=
7,000,0002 %374 A 21,000
Ostelti4X MSYWE (S, 28X (A
ZAIRION) 70,000,000 %171 A 70,000
Oti4Xl & 2R 2nH
500, 0002 *607H A 30,000
03 AlZSTHHI 5,121 4,855 266
O - i 4 2 MC A2 FY
1,422,500,0002 0. 36% 5,121
405 KHAHE SH 5,400 5,000 400
01 AL 2 EF SH 5,400 5,000 400
OalteT A& 20124ct2t)|(PDA) 2L
1,800,000 +3CH 5,400
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SN ABHEZ D
M HY2AAH|(MTIET
gel: A2 (+EIHESESIH) (Chol: ®i2)
S - ZE - BRIEH) - MIRAIR - B e Gl inE=gt
O=Ud=sE8s 146,471,0002 %4 . 5% 6,592
O=pIAYEEZ 146,471 ,0002*3.545% 5,193
OL0IQUZ) | BE B2
5,193,000 %12.81% 666
OUEREFES 146,471,00021.75% 2,564
ORHEERE2 146,471,000 * 1% 1,465
SIHZRI(SEINLEL S H)) 3,200 1,200 2,000
p TRCETINE=STE] 3,200 1,200 2,000
201 L2y 3,200 1,200 2,000
01 AtR2Hel| 3,200 1,200 2,000
OLI2tRE 018 448
100,0002* 122 1,200
OXAANZZIH 0|22
2,000,000+ 13} 2,000
SteTAlE &X 14,515,000 10,051,800 4,463,200
= 8,318,000
7| 2,743,000
[ 1,037,500
2 2,416,500
22RoIE EX(FERINEELEH) 14,515,000 10,051,800 4,463,200
= 8,318,000
7| 2,743,000
[ 1,037,500
= 2,416,500
St4=22 FHI(SUXIF) 269,000 2,765,000 A2,496,000
= 188,000
[ 40,000
= 41,000
401 AlEHIZ 20| 269,000 2,765,000 2,496,000
= 188,000
= 40,000
2 41,000
01 Al&H] 269,000 2,765,000 2,496,000
OXUXI7? 2RI+ AXIALY
269,000,0002! 269,000
= 188,000
= 40,000
2 41,000
St MH|(H2X7) 500,000 500,000 0
= 300,000
= 100,000
2 100,000
401 AlEHIL 20| 500,000 500,000 0
= 300,000
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s
A4 ZX
=& SX(SENLEHSH)

of (Ctel: o)
SA B E(BH) - HRAY - BES o Gl HIDS2
= 100,000
o 100,000
01 Al&H| 500,000 500,000 0
O X7 o222 FHIAIE
500,000, 000& 500,000
= 300,000
= 100,000
o 100,000
OH=0tSot=EdH(Z W X7) 2,075,000 455,000 1,620,000
= 1,452,000
= 311,000
o 312,000
401 AEBIZ 20| 2,075,000 455,000 1,620,000
= 1,452,000
& 311,000
= 312,000
01 Al&H| 2,075,000 455,000 1,620,000
OHDAT SOE0ISFI+E SLAY
2,075,000,000& 2,075,000
= 1,452,000
& 311,000
= 312,000
HE0ISo=S&BI(HZXF) 1,057,000 1,025,000 32,000
= 740,000
& 158,000
= 159,000
401 Al&HIZ 20| 1,057,000 1,025,000 32,000
= 740,000
& 158,000
= 159,000
01 Al&H| 1,057,000 1,025,000 32,000
OUEXR SOE0IS5I+E SLAY
1,057,000,0002 1,057,000
= 740,000
= 158,000
= 159,000
HE0ISol=SEEI(EEXT) 890,000 771,000 119,000
= 623,000
= 133,000
= 134,000
401 AEBIZ 20| 890,000 771,000 119,000
= 623,000
= 133,000
o 134,000
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2AM:
X{XH -
o /e

cH):

s
A4 ZX
=& SX(SENLEHSH)

S B SRI(BH) - HRAY - BAS

PIE]=>
e

01 Al&H]
OFEXF sHE0Soe=E SEAY

890,000,000&

HH W

890,000

890,000
623,000
133,000
134,000

771,000

119,000

s0HELISot=SZHI(2aIXI7)

HH W

500,000
300,000
100,000
100,000

500,000

401 AIZHIZL 200

Mo W

500,000
300,000
100,000
100,000

500,000

01 AlZHI
ORdIXI7 sHELES0+E SEAY

500,000,000&

Mo W

500,000

500,000
300,000
100,000
100,000

500,000

Stexeld SE(A0 S3otMelAld8 AEA)

A

S

879,000
374,000
505,000

1,660,800

781,800

401 AIZHIZL 200

A

879,000
374,000
505,000

1,660,800

A781,800

01 Al&H]
OAUXI7 S3ot=xelAld AEAIS
879,000,000&

H

879,000

879,000
374,000
505,000

1,660,800

A781,800

SteXeld SE(AME S3otHelAlE SEA)

A

S

Mo

4,371,000
3,532,000
758,000
40,500
40,500

189,000

4,182,000

401 AIZHIZL 200

A

S

M H

4,371,000
3,532,000
758,000
40,500
40,500

189,000

4,182,000

01 AlZHI
OAIE B3ot=HalAld SEAZE

4,371,000,000&

4,371,000

4,371,000

189,000

4,182,000
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2AM:
X{XH -
o /e

cH):

-
4
A& £X
A
e

=
T SX(SEMNEEHSH)

HEE

SA - BE - S9(30) - HRAY - BES D e imEET
= 3,532,000
| 758,000
L= 40,500
s 40,500
e S36teHelAl" EXI(=2X7) 874,000 513,000 361,000
= 209,000
| 665,000
401 AlEHIZL 048I 874,000 513,000 361,000
= 209,000
| 665,000
01 Al&HI 874,000 513,000 361,000
2K+ sHENSG=E SEAMY
874,000,000 874,000
= 209,000
| 665,000
SE0I2 ot=22 FHIAMY 1,100,000 0 1,100,000
| 725,000
= 375,000
401 AlEHIZL 048I 1,100,000 0 1,100,000
| 725,000
= 375,000
01 Al&HI 1,100,000 0 1,100,000
OHENIS ofr2t2 EXISA
1,100,000, 000& 1,100,000
| 725,000
s 375,000
OI2E8 X+ ot=2t2 ZXISAt 1,000,000 0 1,000,000
401 AlEHIZLROHY] 1,000,000 0 1,000,000
01 Al&HI 1,000,000 0 1,000,000
OOI2E X7 ot=2t2 HXIBAt
1,000,000, 000& 1,000,000
sOHEOSoES(AERIF) 500,000 0 500,000
= 300,000
| 90,000
L= 55,000
s 55,000
401 AlEHIZLROHY| 500,000 0 500,000
= 300,000
| 90,000
= 55,000
i 55,000
01 Al&HI 500,000 0 500,000
OAEXT sHEOISoE SEAY
500,000,000 500,000
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SN A
[ —
—14

==
HH: ST AlE &X|
el 36T AXI(FEINESESI) (CH: ®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
3 300,000
Il 90,000
[ 55,000
2 55,000
=01Z0tSot= S = (S X17) 500,000 0 500,000
2 300,000
[ 100,000
2 100,000
401 AI2HI2 =00 500,000 0 500,000
2 300,000
[ 100,000
2 100,000
01 Al&H 500,000 0 500,000
OMSX? S0E0IS6t4E SEAY
500,000,000%! 500,000
2 300,000
== 100,000
2 100,000
StE e 4,663,399 3,717,790 945,609
Il 911,427
2 3,751,972
SHECEXIRA (BN S 5| H) 4,663,399 3,717,790 945,609
Il 911,427
2 3,751,972
SIEHEIANE (226 29) 3,811,199 3,207,790 603,409
Il 911,427
2 2,899,772
201 Ler2| 867,700 706,000 161,700
Il 380,000
2 487,700
01 AlR2telH] 7,700 36,000 228,300
ODIRIHs ST &9 45
100,00024#50113] 500
OF=E=FII| HTAA =42(24)
7,200,0002 7,200
02 2329l 860,000 670,000 190,000
OBToI+reIAE, SHEDE &2
800,000,000%! 800,000
Il 350,000
2 450,000
OZTot+r2IAE, SHEIY SAQ2
60,000,000 60,000
Il 30,000
2 30,000
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SA ABIAC D
Hm: Gl
CHRl: BT XIRIAR (SRNE S5 H) (crol: xi21)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
307 DI2FOIA 2,893,499 2,402,790 490,709
9] 531,427
= 2,362,072
05 DIFS[ErS 2,893,499 2,402,790 490,709
OZZ3I4HCIAIE 22I0H3|
2,723,499,0002 2,723,499
Il 531,427
> 2,192,072
OZ=ZTMSZe|CHEEH| (A2 E ZE)
85,000,00024+2I4 2 170,000
405 KHAHE =] 50,000 80,000 30,000
NPEEEEET 50,000 80,000 30,000
OAH ZRBIAF2IAL A8 ST
e 35,000,000 1CH 35,000
O ZZEIAHRIAL ABA =22
=) P¢ 5,000,000+ 1CH 5,000
OME ZZBIAHLIAIL 22T T 2
e 10,000,000 % 1CH 10,000
SIERCIAE (BRol2E 29 2 2I2=7) 852,200 510,000 342,200
307 DI2F0IA 50,000 50,000 0
05 IRFS[ErS 50,000 50,000 0
OZZ3l4H2IAIL 21227
50,000,000 50,000
R ECEESE] 802,200 460,000 342,200
01 A& 802,200 460,000 342,200
OteHelSAX(ERS Za) I
400,000,000 400,000
OAE ZZ5l4 A5t ZII™E EH01E
0K 14,800,000 %241 29,600
OAE 2254 S&4H| 22| QHE
7.,000,0002*1CH 7,000
OME ZZ5l4 URLE ST M7
25,000, 00024+ 1CH 25,000
OANH 22514 Biex ZI|RE 22D
A 32,000, 00094*1CH 32,000
OKlotcHY BT5l4 MA NP2 A
40,000,00024% 14! 40,000
OSNR 2% 0T A (A
25,000, 00024+ 1CH 25,000
OSHH| HEHTE PLC DF
6,800,0002<2CH 13,600
OLfAl HEEIE PLC DF
6,800,0002*7CH 47,600
OAHE 22514 CCTV A
2,800,0002+8CH 22,400
OAHE Z25l4 Asal ATl
38,000,00094%1CH 38,000
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S AGEZ I
H: sl
e ShCXIRAS (SENESESI) (Ctol: X 2l)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
O/ 230t HEHOA 42 B2 2
OH 12,000, 00024%1CH 12,000
OHE Egtoe|MliE K22
100,000,000 100,000
OZZsteHelAlE TS SXE4
10,000,000 10,000
Zoiatael ARPMALY X 4,479,949 4,364,725 115,224
p) 1,889,560
= 2,590,339
ZA AL PR (LEINLELF|H) 69,365 95,000 A25,635
p) 64,400
= 4,965
AL K H R (R AL £F =3 212)) 69,365 95,000 A25,635
p) 64,400
= 4,965
101 Q1AH4H| 38,905 33,940 4,965
p) 33,940
= 4,965
04 M 22X SES 38,905 33,940 4,965
Ot 22| XL MeD]) ol
78,88024%x3001x 16 37,863
p) 33,940
= 3,923
OCUEEEE FEa 37,862,400 %1.75% 663
OMiBE s 243 37,862, 4002 % 1% 379
201 L2 S 30,460 30,460 0
p) 30,460
01 AlR2r2lH] 19,568 19,568 0
OLBt2H] 18,910
OAR2IE S TP (0 @ 75)
3,000,000 3,000
p) 3,000
0BIA 2= 5,000,000 %10 A 5,000
p) 5,000
0E= &M 70,00021%35)} 2,450
p) 2,450
0OHLHEH 2= 1,160,0002 61 6,960
p) 6,960
oMgDISE R 3,000 *5000H 1,500
p) 1,500
OFZQAAD ZAH| ARt
658,000 13 68
p) 658
02 22249 10,892 10,892 0

- 667 -




A Aot
M ZAMR SABEAY FA
ool ZoALR 2e|(FENESESI) (Crol: ®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
0323232 ¥ HMA 5,292
O=&xe B8 & UsSTHA
1,500,000& 1,500
| 1,500
0ZAIZ=A HDI23
60,0003 *2I A+ 12 1,440
| 1,440
02N Z=A SRS
10,0004+ Ax 128 240
7 240
0CCTV 2l OlE2= 88,000 %25 &+ 122 2,112
| 2,112
O I=2=IN] 5,600
0= =4 1,500942002| E{* 12 3,600
7 3,600
OXf2tE S| 200,0002%103] 2,000
7 2,000
FUX KA (BN ELZIAH) 1,035, 160 878,074 157,086
| 1,035, 160
UG R A 1,003,328 846,910 156,418
7 1,003,328
101 2l24b| 5,628 5,628 0
7 5,628
04 JI2tNI22NSE s 5,628 5,628 0
=R FOXRA 1,148,000 1,148
| 1,148
Ozt F0IX|JAA 3,345,000 3,345
| 3,345
O&t=rRE 572 F0IX| A
1,135,000& 1,135
| 1,135
402 QI2EXH=0|H 997,700 841,282 156,418
7 997,700
02 QIZENEAMSE X (01X M) 997,700 841,282 156,418
OXEXIJ A 333,000
AP S A 3,500,000 3,500
7 3,500
081414 329,500,000 329,500
| 329,500
O3S FX|AAIS
355,932,000& 395,932
| 355,932
Ozt FOIX|JAA 286,746,000 286,746
| 286,746
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SA: AGE
HM: ZAMNSR SEBFAIY F=X
Sl FOIXIRAAIRS (S EIHESES!) (Ctel: XM 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OatfE S =0T/
22,022,0002! 22,022
p) 22,022
FOIX ARG A S 2222 DBR 2] 31,832 31,164 668
p) 31,832
101 Q1244 30,454 29,554 90
p) 30,454
M IIHR22IEES 30,454 29,554 900
OFDIXIAIY DBRIR QI24H| 30,454
ZOIXISIAFY DB Q124H]
78,8802% 121130 10,255
p) 10,255
ZOIXIRIALY DBXIR Q12AHI(SY)
78,8802%501x30L 11,832
p) 11,832
=54 78,8802 % 101322 2,525
p) 2,525
0FE+EH(SY) 78,8801 %5017 2,761
p) 2,761
0=EH=EEE 27,371,360 %4 . 5% 1,232
p) 1,232
0HE2E= 27,371,360%3.545% 971
p) 971
0Z)|QuEsE 971,0002*12.81% 125
p) 125
0NEEE= 27,371,360 1.75% 479
p) 479
M2 = 27,371,360 1% 274
p) 274
202 O4H 1,378 1,610 A232
p) 1,378
NENE 1,378 1,610 A232
OFQIXIAIY FRAE HH
1,378,0002 1,378
p) 1,378
SSHIANERH(FEMLASELSIH) 3,375,424 3,391,651 NA16,227
p) 790,000
= 2,585,424
IIE2RXEIANE(BEXIAE 29) 2,841,196 2,892,753 51,557
p) 660,000
= 2,181,196
201 L2 A 600,500 420,000 180,500
p) 160,000
= 440,500
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SA: ABtEED
MM PN SEEHAY =X
£2l: BIXCIAEXIR(FENSSSS|H) (Crel: &2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 AFR 22l 500 0 500
OJ2I0HE S TI EHAAR 4+
100,00024#501%13] 500
02 S22 600,000 420,000 180,000
OFII22 600,000
OAFEDIER L 22X 2IAIL (80m /L)
25,000,000 * 122 300,000
J| 80,000
= 220,000
02 2 WHeDIER=33XelAlLQom/Y
50m /) 25,000,00024 122 300,000
p) 80,000
= 220,000
307 212+l 1,746,696 1,605,089 141,607
p) 500,000
= 1,246,696
05 DIZtRIES 1,746,696 1,605,089 141,607
O=E2L2DHRIAL Z2ltystt] 1,706,696
OAFEDISR B3 XCIAlIA(80m /L)
1,024, 170,770 1,024,171
p) 300,000
= 724,171
OLHZIDIS2 = 2B XEIAlIE(50m /L)
682,524, 3402 682,525
J| 200,000
= 482,525
OIE2LBE2HeIAIE 2322
40,000,000&! 40,000
401 A& HIZ S CHY] 494,000 842,664 N\348,664
01 Al&Y] 494,000 842,664 N348,664
OZa Xl Ml 420,000
OAEIISE L 2T HEIAIL
20,000,000 * 122 240,000
OLi2DIER = BSXelAlL
15,000,000 * 122 180,000
Og&e el 20,000,000 20,000
OMEIIEELBBXCIAL HEERS &
X 2 HH2EZ2AL 40,000,000 %14l 40,000
OURIIEE2 L2 2 H2IAIE ASA TOC JtA
HH2t A 4,000,0002%14] 4,000
OURIDIZSE=2TH2IAIE CCTV &X| A
2,500,000 474 A 10,000
ELHZIANE(BEHAE 2Y) 534,228 498,898 35,330
p) 130,000
= 404,228
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SN Aot
A AN FELZTAY =2
©el: SRR (SEINESHSIA) (Crel: xi21)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
307 eI2to1: 344,689 406,051 161,362
2l 130,000
[ia 214,689
05 eI2IE= 344,689 406,051 161,362
OZ2aXelAld 2e|tHE]
334,688,620 334,689
Il 130,000
= 204,689
OZaHMeAE 22574
10,000, 000 10,000
401 AlZHIZL S CHY] 189,539 92,347 97,192
01 Al&H] 189,539 92,347 97,192
OZ2XelAd dFD|=dd 89
22,539,000 22,539
= SXIMeltl 1,500,000« 122 18,000
OJIH & HH2t&d] e 51,000
EoXoAlE SEXEZ WA
10,000,000 * 17 2 10,000
O2=XelAle STESE FRPE0lE % 8
ZWED| WA 10,000,000 10,000
02 =XelAle e JNEZ ZX
5,000,000 x27H A 10,000
OREHMEAE SXE WE Wil
15,000, 000& 15,000
02=XelAE S+33EHIE ui
3,000, 00024 <274 A 6,000
O&IIEHl & HZHOI £Hl KA 18,000
OZ2=XMelAl& FILTER PROSS ¥ 12X SdH&
HI RMOiE PLC WA 6,500,000 *2IH A 13,000
02=XeAE REE HAZSER(UPS) 1
H 5,000,0002*17H A 5,000
OZLHMeIAIE SZHLSA 80,000
OAFRA! Jf - B 60,000,000 %14l 60,000
0XIIZAL & SAISA
20,000, 0003 * 14! 20,000
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